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HE—

National English Proficiency Test for
Doctoral Candidates of Medicine

iX#%— (Paper One)
Part I Listening Comprehension (30% )

Section A

Directions: In this part you will hear 15 short conversations between two speakers. At the end of each
conversation, you will hear a question about what is said. The question will be read only
once. After you hear the question, you will have 12 seconds to read the four possible an-
swers marked A, B, C and D. Choose the best answer and mark the letter of your choice
on the ANSWER SHEET.

Listen to the following example:

You will hear:

Woman: I feel faint.
Man: No wonder. You haven’t had a bite all day.
Question: What’s the matter with the woman?

You will read:

She is sick.

She was bitten by an ant.
She is hungry.

She spilled her paint.

oo w >

Here C is the right answer.
Sample Answer

ABE D

Now let’s begin with question number 1.

1. A. How the fish are delivered.
B. How the fish are affected.
A ,




<

Sows SOowWE DOwWpE

© 0w

S 0w

OO =

SR

Why fish affect people that way.
Why people are affected.

The infirmary was open.
The man wasn’t really ill.
Yesterday wasn’t a holiday.
The hospital was closed.

The poor working conditions in the hospital .
The danger of being infected with AIDS.

The shortage of well — trained health workers for AIDS patients.

The inadequate medical education about AIDS.

She wants some cosmetics.
She wants some medicine to treat her skin trouble.
She wants some ointment .

She wants some medicine to treat her stye.

Go to the cinema.
Go to the laboratory.
Write a report.

Join her friends.

134 pounds.
170 pounds.
152 pounds.
180 pounds.

There’re not enough chocolates to go around.
The man has eaten more than the woman.
The woman wants to eat them up.

The man shouldn’t eat any more.

It is an optimistic one.
It varies according to her mood.
It is usually sarcastic.

It is determined by what she reads in the newspaper.

They are pleased with their new car.



B. They drive a different car today.
C. They don’t normally drive on this route.
D. They think it’s nice to change their plan.

10. A. It’s beautiful and expensive.
B. It’s not so beautiful but the price is reasonable.
C. It’s not beautiful, though expensive.
D. It’s too cheap.

11. A. He built the cabinet himself.
B. Some people else made the cabinet.
C. He thought the cabinet was beautiful .
D. He did not make the cab.

12. A. He is happy to help her.
B. He is not a typist.
C. He can’t help her to move the typewriter.
D. He is not allowed to type.

13. A. He’s angry with the student.
B. He’s crazy.
C. He’s late for class.
D. He’s sick.

14. A. Robert is very rich.
B. Robert is generous.
C. Robert will help her.
D. Robert is on vacation.

15. A. She doesn’t have so much money.
B. She considers the price reasonable.
C. She buys very little chocolate.
D. She agrees with the man.

Section B

Directions: In this part you will hear three passages. After each one, you will hear five questions. Af-
ter each question, you will have about 12 seconds to choose the correct answer from the four
choices given. Mark the letter of your choice on the ANSWER SHEET.




Passage One
Questions 16 ~ 20 are based on the following passage.

16. A. The patient is calling the doctor’s office to make an appointment.
B. The man is calling to book a ticket.
C. The man is calling to make a reservation.
D. The receptionist is making a phone call.
17. A. To cash a check.
B. To check up on the work.
C. To change the appointment.
D. To have a medical checkup.
18. A. Two o’clock, the fourteenth, this month.
B. Four o’clock, Friday, the fifteenth, next month.
C. Two o’clock, the fourteenth, next month.
D. Four o’clock, Friday, the fourth, next month.
19. A. Blue Shield.
B. Blue Field.
C. Blue Glass.
D. Blue Cross.
20. A. He should pay half of the charge.
B. He needn’t pay anything.
C. He needs to pay just a little.
D. He should pay three — fourths of the charge.
Passage Two

Questions 21 — 25 are based on the following passage.

21.

22.

= >

oo w >

Heart attacks.
Strokes.
Drug addiction.

Cerebral haemorrhage.

About 860,000.
About 1.5 million.
About 1/2 of the total population.
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About 2/3 of the total population.

Easy to use.
Safe.

Economical .
Fast acting.

TPA does not work only on the heart.
TPA does not have an effect on the blood.
TPA is not a new drug any way.

TPA causes bleeding in the heart.

To test the drug on many more people with heart attacks.
To test those who suffer from heart attacks.

To test the doctors who use the new drug.

To test the new drug in hospitals.

Passage Three
Questions 26 — 30 are based on the following passage.

26.

27.

29.
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Students.
Teachers.
Social workers.
Doctors.

They took a long — term course of social sciences.
They took a one — day course of psychology.
They rendered assistance to- the disabled.

They explored the world of the handicapped.

To understand the handicapped.

To create compassion for the needed.
To share difficulties with the poor.
To take care of the disabled.

An insight into the psychology of the disabled.

More knowledge about needs and feelings of the handicapped.
Respect the disabled for their abilities.

All of the above.




30. A. Borrowing a book from a library.
B. Exchanging money at a bank.
C. Buying a ticket at a railway station.
D. Seeing a doctor at a hospital .
Part T Vocabulary (10%)
Section A

Directions: In this section all the sentences are incomplete. Four words or phrases, marked A, B, C
and D, are given beneath each of them. You are to choose the word or phrase that best
completes the sentence. Then, mark your answer on the ANSWER SHEET.

31. This environment can also affect a person’s mental and health.
A. conventional B. personal
\9. physical D. impersonal
32. If the cells cannot use sugar, the body begins to its own tissues for food.
A. break through VB break flown
C. break out D. break over

33. He had always had a good opinion of himself, but after the publication of his best ~ selling novel he
became unbearably

- cordial B. proud
(9. conceited D. exaggerated
34. The brain centres that process numbers seem to be different for exact and calculations.
A adequate B. apparent
C. approximate D. objective

35. He felt the pain again when the effect of the drug .

A. wore on B. wore down
C. wore out D wore off
36. If you are a member of the League you must to its rules.
A. approach B conform
C. respond D. abide



37. He may give the impression of being severe, but he is quite a kind person

A. from heart \B. at heart
C. of heart D. by heart
38. An immediate search over 1,000 square miles of sea failed to single piece of wreckage.
\;‘L turn up B. tum down
C. turn over : D. turn round
39. Should they be included in our list of problems requiring special techniques and ?
A. character ~R. therapies
C. expertise D. specification
o
40. They abolish or closely control the legislature, and quickly freedom of speech, assem-
bly, and the press.
. suspend B. supervise
C. sustain .Q/ suppress
Section B

Directions: Each of the following sentences has a word or phrase underlined. There are four words or
phrases beneath each sentence. Choose the one word or phrase which can best keep the
meaning of the original sentence if it is substituted for the underlined part. Mark your an-
swer on the ANSWER SHEET.

41. The pain was severe at the beginning, but it soon ended.
A. passed away \B. died off
C. took away D. died down

42. You can not burden your memory with too much information.
A. retain \B. load

C. retrieve D. associate

43. The insurance company estimates his assets at over three million dollars.
A. accessories B/ finances
C. accommodations D. returns

44. Experts caution that no matter which method patients choose, they may need to wear eye glasses
again one day — at least for reading.
A. advise B. conclude
€ wam D. claim

10




45. We also have courage and determination to build paradise or at least try.
A guts .0 B. desire
C. confidence D. zeal

46. The queer woman kept over one hundred cats in her house.
K. odd B. energetic
C. generous D. subtle

47. Peering into the crowd, Luanno saw Robin walking slowly toward his father, his head tilted to one

side.
A. Looking casually \B& Looking closely
C. Looking unintentionally D. Looking cautiously

48. The arbitrary decision of the factory owners caused anger among the workers.
A. orbital B. optional
y assertive D. disappointed

49. If a client insists upon being stubborn, lawyers have to settle claims in court.
Q. obstinate B. indignant

C. obsessive D. furious

50. Babies need to be held and soothed when they are disturbed or hurt.
A. smoothed LS J. calmed
C. touched D. cared

Part I Cloze (10%)

Directions: For each numbered blank in the following passage there are four choices marked A, B, C,
and D listed on the right side. Choose the correct answer and mark your answer on the AN-
SWER SHEET.

Despite growing numbers of joggers, Canada Fitness Surveys across the country demonstrate that Ca-
nadians are less physically fit than their U.S. or Swedish counterparts. Many people 51 ___ that
they are active do not exercise often or vigorously enough for optimal benefits. Only about 25 per cent of
Canadian adults paddle at the recommended level that increases the heart beat to a target level 52
____there for at least 15 minutes thrice weekly. Men are more likely to be either “sedentary” or “very
active”, while women are 53 ___ to be “moderately active” .

Common reasons 54 ____ are no willpower, poor facilities, boredom, fatigue, no partner,
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